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public class StdRandom

int uniform(int N) N - 150w mav el
double uniform(double To, double hi) hi 910 @ (sidis 5lxel
) int get RandomNumber ()
boolean bernoulli(double p) p Jwisl L true
P return 4. // chosen by fair dice roll.

double gaussian() 1 e 1l 9 0 ulibes Jboy ;90 } // quaranteed to be random.
double gaussian(double m, double s) S las <310l 9 M pelilio Jla &y
int discrete(double[] a) ali] Juwl ¢ 1
void shuffle(double[] a) o 00 vall 4,7 @y p
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public class StdRandom {

public static void main(String[] args) {

int N = Integer.parseInt(args[0]); _

for (int i = 0; i < N; i++) { % Jjava StdRandom 5
Stdout.printf (" %2d " , uniform(100)); 61 21.76541 true 9.30910
StdOout.printf ("%8.5f ", uniform(10.0, 99.0)); 57 43.64327 false 9.42369
StdOout.printf("%5b " , bernoulli(.5)); 31 30.86201 true 9.06366
Stdout.printf ("%$7.5f ", gaussian(9.0, .2)); 92 39.59314 true 9.00896
StdOut.println() ; 36 28.27256 false 8.66800
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public class RandomPoints ({
public static void main(String args[]) {
int N = Integer.parseInt(args[0]);
for (int i = 0; 1 < N; i++) {
double x = StdRandom.gaussian (0.5, 0.2)
double y = StdRandom.gaussian (0.5, 0.2)

StdDraw.point (x, Y);'\\\\\\\\\db{u@w?w;l@&wl

} y ,
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avac RandomPoints. java
ava RandomPoints 10000
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public class StdStats
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double
double
double
double
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void

void

void

max (double[] a)
min(double[] a)
mean(double[] a)
var(double[] a)
stddev(double[] a)
median(double[] a)
plotPoints(double[] a)
plotLines(double[] a)

plotBars(double[] a)
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public class StdStats {
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\F public class Bernoulli {
B | * uoiic static int binomial(int ) { Ve
int heads = 0;
for (int j = 0; j < N; j++)

if (StdRandom.bernoulli(0.5)) heads++;
return heads;

}

public static void main (String[] args) {
int N = Integer.parselnt(args[0]) ;
int T = Integer.parselnt(args[1l])

int[] freq = new int[N+1]; ST T el
for (int i = 0; i < T; i++) ~ fo/
freq[binomial (N) ]++; Uy N Jalis 714

double[] normalized = new double[N+1]; e .
for (int i = 0; i <= N; i++) [O’Ji s

normalized[i] = (double) freq[i] / T; “r¥ )l ¢ bopm
StdStats.plotBars (normalized) ;

double mean = N / 2.0, stddev = Math.sqrt(N) / 2.0;
double[] phi = new double[N+1];
for (int i = 0; 1 <= N; i++)

phi[i] = Gaussian.phi (i, mean, stddev); .
StdStats.plotLines (phi) ; CA iy
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BernoulTli )

parseInt() parselnt()

plotBars()
plotLines()

readDoubT1elD()
readDoubl1e2D()

discrete() ohi O

uniform() sqrt(Q

(StdAr‘rayIO)
readDouble() point()
readInt() StdRandom

setPenRadius()

setXscale() random()
Tine()
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